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(A7) 93,720 75,780 17,940
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R el 4,560 4,620 AB0

04 F-AFPF-FHn 4,560 4,620 A60
OFAM @97+ F21(44 3091 °la}) 350,000 +12€ = 4,200
OFA @G FF2 (=) 5,000 68 %129 = 360

204 A F-FP 7| 23,400 22,200 1,200

03 EAQFFYeEH 23,400 22,200 1,200
OAFHET 7Y &4 100,000 13 «129 = 15,600
O3A - AdddTHFd &5H 50,0009 #4129 = 2,400
OHAHZT T4 &5H] 50,0009 #5129 = 3,000
OEARHF T T &FH] 100,000 #278 %12¢ = 2,400
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Ow%H] 8,640,000 = 8,640
202 oiH] 42,120 31,560 10,560
01 =ujofn] 42,120 31,560 10,560
OFAED 71&g 5 3991 42,120,0009 = 42,120
A=A A & 245,426 197,472 47,954
P 86,793 83,902 2,891
71, FARE AGA R} 86,793 83,902 2,891
101 <17H] 9,053 8,800 253
10 71 AT ZA S B 9,053 8,800 253
OAAl AiA= 49 154 29,4309 %21 +20U 7€ = 8,241
o4 R 8 8,241,000 %0.0985 = 812
201 L¥hgH] 54,115 63,102 A8,987
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E S ) 9,166 6,700 2,466
101 <17H] 6,466 5,500 966
10 AT EZA SRS 6,466 5,500 966
ORA 4 57] AxA 29,4309 x 1204 *10¥ 5,886
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201 L¥kEgH] 2,700 1,200 1,500
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— A7t A= 500,000 %12¢€ = 6,000
Od=H] 32,500
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—wBde] WACK T4 20,000,0009) = 20,000
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- E 5,000,000¢ = 5,000
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—w% 2387 WA 2 A 50,0004 %5071 = 2,500
—FANHE (R, 59, 78 3,000,000 x12¥ = 36,000
— A7 A 514 100,000 %129 = 1,200
-8 NS AR 200,000 12€E = 2,400
— A ] 200,000 %12€ = 2,400
202 &9 3,000 3,000 0
01 =ujodn] 3,000 3,000 0
OAAHrA ] o H] 3,000,0009 = 3,000
301 LWkRAH 2,000 0 2,000
10 AW RS 2,000 0 2,000
OAYd AAA3} 715 St i 40,0009 %50 #13] = 2,000
AL 2t R AR e 40,000 60,000 20,000
401 A A B ZF-thH| 40,000 60,000 20,000
04 AJAdH] 40,000 60,000 20,000
OEA, SHAAL &9t AH]FAL 10,000,000 471 = 40,000
24 s A 115,280 214,520 299,240
401 A2 H) 2 Ry 115,280 214,520 A99,240
02 AR AN 4,488 8,000 A3,512
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02 AAAA MR 5,110 7,825 A2,715
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O HAA FH AN FAL 100,000,000 1] 100,000

06 A5t 900 1,600 A700
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OEAH 2 SFHEFAERY] 2 250,000 #4107} = 10,000
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201 Luke-gn) 129,770 85,000 44,770
01 AFE#EH 4,500 6,000 A1,500
OYrr=-8H] 4,500
—A&EER 28 7= 3,000,000¢) = 3,000
—2FRAH FrE 500,000 #33] = 1,500
02 F&+FH 125,270 79,000 46,270
OFFT8w % AA 10,770
— A& A} A] 90,0009 17t = 1,530
A2 B8 8,340
TEsE 180,0009) x2 ) x23] = 720
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Ay 270,0009) *3tH 23] = 1,620
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